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3 0.042 0.85 0.00 0.00 3 0 0 3 0.013 0.00 0.00 0.00 0 0 0
4 0.013 0.00 -2.02 -0.68 0 15 2 4 0.013 1.13 0.00 0.31 10 0 1
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L -84.6 -39.8 225 -129.0 -79.2 24.9
L -31.8 27.1 12.3
R -173.5 -44.7 26.6 —4.2(C) — K
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4.5 26.3 -11.4 kN kNN m kN
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-4.3(a)
[« ca a S sa 's sa
N/mm 2 N/mm 2 N/mm 2 N/mm 2 N/mm 2 N/mm 2 N/mm 2 N/mm 2
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L 1.44 12 OK | 0.04 0.63 |OK| 56.64 300 |OK| 4.93 300 |OK
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[kN]
[kN] [kN] [kN] [kN] [-] [-] [-1
L 184.3 78.2 212.9 291.1 343.2 0.63 0.54 =
L 90.8 78.2 212.9 291.1 343.2 0.31 0.26 =
R 189.9 78.2 212.9 291.1 343.2 0.65 0.55 =
R 96.0 78.2 212.9 291.1 343.2 0.33 0.28 -
366.4 110.7 322.3 433.0 506.8 0.85 0.72 =
432.2 110.7 322.3 433.0 506.8 1.00 0.85 =
-450) " z1 2-1 —
s+
2 +P Sc Ss Ps PsO P/Ps P/PsO
[kN]
[kN] [kN] [kN] [kN] [-] [-] [-]
K 167.4 95.2 496.7 591.9 655.4 0.28 0.26 =
K 208.0 95.2 496.7 591.9 655.4 0.35 0.32 =
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3
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K 208.0 95.2 496.7 591.9 655.4 0.35 0.32 =
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Fe¥% %™ <af = T""-|| / — a ,(mm) 117 11.7
3.0 15
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A > -
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Khu 1.345 1.345
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21(b) (™= - L4 e 50 1
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- % of-¢ | - s 0 zy(% l13_; ‘113.2
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‘” | # A '” g . 3.714 12.899
& 0.39 0.20
"z 21 - A
n n
n 0.187[sec] |} 4 % 0.192[sec] |} 4
k.., =0.85 K.,o =0.85
c,=10 c,=10
Ff = K..03 C, =0.85>0.3 s = k.02 c, =085>0.3
L2 112
c, =049 c,, =031 K

Kiy =CC,Kpno
k,, =0.4931.0%085=042>04

cy, =0.39 K
Kig = CsC-Kao
K., =0.3131.0% 0.85=0.26
Ky, =0.393 1.0% 0.85=0.33
04dL 1 < |4
Kz, =0.40%1.0=0.40 K
K., =0.40%1.0=0.40 K
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Tozi 22 - A
n n
n 0.187[sec] |} 4 n 0.192[sec] |} 4
K,,, = 3.22T 3 K,,, = 3.22T 3
=3.223 0.187°2 =1.053 =3.223 0192 =1.072
c,=10 c,=10
Ff = K., Cc, =1.053> 0.6 s = k..,2c, =1.072>0.6
VL2 L #
c, =0.28 c,,=0.15 K
c,, =0.20 K
Kio = CC,Kpz0 Kiz = CsC,Kiz0
k., =0.28%1.0% 1.053=0.29 k.., =0.15%1.0%1.072=0.16
k., =0.20%1.0% 1.072=0.21
0.44 | < | 0.44 { < |4
k., =0.40%1.0=0.40 k.., =0.40%1.0=0.40 K
K., =0.40%1.0=040 K
13.
- = ™M= -47(&)
L 47~ A " zi 21 " s R
i o * Kne 0.42 0.40
z1 22 - ke °©2 P> # Ko 1843 1.994
o A v, |L o Pa(kN) 373.4 403.9
r Wu(kN) 147.0 147.0
L %o f=™]i <% ] Wp(kN) 111.1 1111
P 05 05
N e— — % 0 -” — % W(kN) 202.5 202.5
KnoX W 85.1 810
-4.7< o =of | — # P(kN) 85.1 81.0
P <Pa P <Pa
A oK. 0.k,
-4.7(b) K -4.7(c) K
Tz 21 Tz 22 Tz 21 Tz 22
Knc - 0.40 - 0.40 Kne - 0.40 - 0.40
Knu 1.345 1.345 Khu 1.672 1.672
Pa(kN) 235.0 235.0 Pa(kN) 2922 292.2
Wu(kN) 147.0 147.0 Wu(kN) 147.0 147.0
Wp(kN) 556 556 Wp(kN) 55.6 55.6
op 05 05 op 05 05
W(KN) 1747 1747 W(KN) 174.7 174.7
KnoX W 69.9 69.9 KnoX W 69.9 69.9
P(kN) 69.9 59.9 P(kN) 69.9 69.9
P<Pa P<Pa P<Pa P<Pa
OK. OK. OK. OK.
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L 48~ A " zi 21 mz1i 22 - %
<sof=™|1<% %% —9m| 934 — vl 14 #Nef % 47
— \/ $ D) /8 -0 '48(&)

[ vV E < oy | — =i TM,_zTME| T g0 21 "0 22
3 Y 1 dl =™ = Z ¢z Kneo
(3]~ '|| ‘" ”‘I | (2-1:0.35 2-2:0.6) 0.850 1.054
1 — 1/1004L < o= AL Y 9. 0.731 0.764
8 ,(mm) 11.7 11.7
N =— — % 0 -” — % 9 I (mm
3 rap(Mm) 435 435
48<| of <o | - % % raom) 435 435
9 ,(mm) 0.0 0.0
A '" a <ara a <éra
0.K 0.K
-4.8(b) K -4.8(c) K
T zi 21 Tz i 2-2 Tz i 21 Tz 22
ez kico 0.850 1.073 ez kico 0.850 1.073
(2-1:0.3% 2-2:0.6) : : (2-1:0.38 2-2:0.6) : :
g, 0.816 0.899 g, 0.754 0.821
8 ,(mm) 11.0 11.0 8 ,(mm) 13.2 13.2
3 I y(mm 3 Iy(mm
3 ra2(Mm) 435 43.5 9 ra2(Mm) 43.5 435
9 ra(mm) 43.5 43.5 9 ra(mm) 43.5 43.5
9 r{mm) 0.0 0.0 9 r{mm) 0.0 0.0
a <éra a <ara a <ara a <éra
0.K 0.K 0.K 0.K
A rlrad )= SRR TE A
’_j'
[y |
i
{ i |
i i !
Arafrad) = TFARFEEER G H " ]
- P I

f Ra= 20055‘( h™—4b ]

— 4bt+ hy/h? + 467 — 4b°
het— IR UL B AR

te—F R (LR AR

b: TR

47 9D ) — d ™

b
=
=3

s
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b — 4B

f# Ra= 2003‘1(

h:BEETS
Lt B (RGOt R —F [ B
B: PRI 00 2 D

— 4BL+ h/h® + 415 - 4B

|

214




51

5.1~ £ ™Y — L A 51r- =V — L A  Bl—eL
8 A-” =N TM9 - = ™M= | q:\/ £ e — [6]|— I = 4:»\/
— L A o%n - A %%Ne| v E — — | <
] 52 | - 2% |4 L A " zi 2 - ez | 2< v
Nefiel D)  24Nmm?2|
n SD345
« )
AC |
As4
5.1
5.1
N 2 av |0 3 G C G
(m) (kN/m3)| (kN/m2)| (kN/m2) (kN/m2)| (kN/m2)
B MC/DP 4.86 5.0 18.6 45.2 14000 0.333 5251 0 30.6
Acl MC/DP 1.00 7.0 18.0 99.4 19600 0.333 7352 42 0.0
Asl MC/DP 1.75 15.Q 18.0 119.1 42000 0.333 15754 0 335
Agl MC/DP 0.80 12.0 18.0 130.5 33600 0.333 12603 0 32.1
Ac2 MC/DP 1.75 6.0 19.0 1429 16800 0.333 6302 36 0.0
As2 MC/DP 1.05 15.0 18.0 156.4 42000 0.333 15754 0 32.6
Ac3 MC/DP 1.05 5.0 19.0 166.3 14000 0.333 5251 30 0.0
As3 MC/DP 1.45 10.Q 18.0 178.1 28000 0.333 10503 0 30.2
Ac4 MC/DP 1.65 9.0 19.0 1929 25200 0.333 9452 54 0.0
As4 MC/DP 6.05 43.0 19.0 231.4 120400 0.333 45161 0 36.3
1S LS
D25@250 D19@250
2900 2300
700, 1500 _, 700 400_ 1500 400
| | | |
(an]
2 3 D130230 & EF D13@250
(- \_ J g
ERf
Elf Py
= D19@250
D19@250
oRfi 1( ) oRfi 1( ) oRfi 2 eRfi 3
5-2 — % |
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